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AN HOHUSX 2t

mE: Fojel =X S

chel: ZOyOl CHEl X & (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 18,000 18,000 0
11T M SRASEEX 18,000 18,000 0
OHM6sl M==Al =H23tAM M= 18,000
HFEANZEONCES JsE2(E Z00a) 10,000 0 10,000
< 10,000
402 RIZEX20l A 10,000 0 10,000
< 10,000
02 LA TEALEZ(0IETHR) 10,000 0 10,000
OEFAIZEMLAE S Js2 10,000
< 10,000
ool SXAIE X 18,677,103 14,844,857 3,832,246
=2 6,488,766
J| 750,000
= 2,859,232
Al 8,579,105
FAURAANE 2EXH 2,279,911 2,270,522 9,389
= 1,595,938
< 683,973
307 21201 A 2,279,911 2,270,522 9,389
= 1,595,938
< 683,973
10 ALSISXAIEEER2IHEX 2,279,911 2,270,522 9,389
OHAQRLAAIE 24| 2,279,911
= 1,595,938
= 683,973
HAQAANE S BAN SELY 67,320 55,800 11,520
< 20,196
Al 47,124
307 gl2tol & 67,320 55,800 11,520
< 20,196
Al 47,124
11T M SXALSE EX 67,320 55,800 11,520
OZUQLAAE S SAA SE€xE 67,320
< 20,196
Al 47,124
FAUQAALE HEzz22d XA 13,120 13,200 A 80
< 3,936
Al 9,184
307 212+0 & 13,120 13,200 A 80
< 3,936
Al 9,184
11T MISRASER 13,120 13,200 A80
OTAQLAAE MEEZ2d X2 13,120
< 3,936
Al 9,184
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FAUQAAE Mol HAH| 2,668 2,155 513
< 800
Al 1,868
307 gl2tol & 2,668 2,155 513
< 800
Al 1,868
11T AIS S RAEE = 2,668 2,155 513
OF/AURLAAL MEQl HAH| 2,668
< 800
Al 1,868
ZOHQ AFAE 29 K& 4,532,074 3,656, 161 875,913
= 3,172,452
< 271,924
Al 1,087,698
307 glz2tol & 4,532,074 3,656,161 875,913
= 3,172,452
< 271,924
Al 1,087,698
10 ALSISEXAIEEE2EHEX 4,532,074 3,656, 161 875,913
OHM HN=F=AE 2d X& 4,532,074
= 3,172,452
< 271,924
Al 1,087,698
Zojel F2AESAE 2% 2,713,633 2,330,683 382,950
< 525,447
Al 2,188,186
307 21201 A 2,713,633 2,330,683 382,950
= 525,447
Al 2,188,186
10 M SXNANEHES2IHEX 2,713,633 2,330,683 382,950
OFMO F2UAESAHE 29 2,713,633
< 525,447
Al 2,188,186
ZOHQl OF2 S S ALY 303,928 301,170 2,758
< 60,785
Al 243,143
307 glz2tol & 303,928 301,170 2,758
< 60,785
Al 243,143
11T M SXAIS EX 303,928 301,170 2,758
OFOHEl Ol SsSALY 303,928
< 60,785
Al 243,143
e SsHEIE 24 261,299 260,206 1,093
< 26,131
Al 235,168
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D HMY BEXAIE XA

SN HH-S(BN) - MBAY - B il HlnE2
307 glz2tol & 261,299 260,206 1,093
< 26,131
Al 235,168
10 M3 ZXNANEHI2IHES 261,299 260,206 1,093
OZME ZsHaId 24 261,299
< 26,131
Al 235,168
ZOofe HIESAE 2Y 436,847 290,443 146,404
< 87,369
Al 349,478
307 glz2+ol & 436,847 290,443 146,404
< 87,369
Al 349,478
10 ALSISXAIEEE2EHEX 436,847 290,443 146,404
OFML HIESAE 29 436,847
< 87,369
Al 349,478
ZOHQ SXAIE SAMK SE€E 356,400 308,093 48,307
< 106,920
Al 249,480
307 21201 A 356,400 308,093 48,307
< 106,920
Al 249,480
11T ALS S XAEE = 356,400 308,093 48,307
OFM SXAE SAX E8=E 356,400
< 106,920
Al 249,480
OO NEME HMEE 22 615,900 579,347 36,553
307 g1zl & 615,900 579,347 36,553
11 AISI S XA E = 615,900 579,347 36,553
OZOMQ N2 HEs Al 474,780
OZOe NHSME XHES 223l 141,120
ool =sR2 234l ,452,884 1,378,087 74,797
= 290,577
Al , 162,307
307 gl2tol & ,452,884 1,378,087 74,797
= 290,577
Al , 162,307
10 M3 SXNANEHISIHEX ,452,884 1,378,087 74,797
OXHeI=X& 298l ,452,884
= 290,577
Al , 162,307
ool dE=S=2Y 29 120,000 120,000 0
307 glz2+ol & 120,000 120,000 0
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05 RIZHRI & 3 120,000 120,000 0
OZMY d2==E 2 120,000

ZOHR =HSAHH 294 378,737 310,741 67,996
< 66,747
Al 311,990

307 glz2+ol & 378,737 310,741 67,996
= 66,747
Al 311,990

10 ALSISXAIEEE2GHEX 378,737 310,741 67,996
OHME =HSAdH =29 378,737
< 66,747
Al 311,990

Zoe M 0l NYHH 29 276,192 273,922 2,270
< 55,238
Al 220,954

307 21201 A 276,192 273,922 2,270
= 55,238
Al 220,954

10 M SXNANEHISIHEX 276,192 273,922 2,270
OFHe M& Ols XNJAHH =294 276,192
< 55,238
Al 220,954

ANZAZOHCH(EI) S 29 132,000 127,396 4,604
< 66,000
Al 66,000

307 glz2tol & 132,000 127,396 4,604
< 66,000
Al 66,000

11T AISI S AAEE = 132,000 127,396 4,604
ONATMNL (BR) CHE 29 132,000
= 66,000
Al 66,000

ZOHQ AATHEAE 24| 1,362,990 1,318,545 44,445
< 272,600
Al 1,090,390

307 21201 A 1,362,990 1,318,545 44,445
< 272,600
Al 1,090,390

10 ALSISXAIEEE2GHEX 1,362,990 1,318,545 44,445
OXZOHC HNATHE AL 2FHI 1,362,990
< 272,600
Al 1,090,390

ol MNAHEAILE JIsES 1,226,381 481,696 744,685
= 813,682
< 244,105
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307 glz2tol & 1,140 1,140
< 342
Al 798
11T M SXASE EX 1,140 1,140
OFOHH=AIE CCTV &l EHl XA 1,140
< 342
Al 798
AZIEXAL 2XHE XA 62,100 62,100
307 glz2+ol & 62,100 62,100
11T MISRASER 62,100 62,100
OAMEISXIAL 2X2HE X & 62,100
STTML HFAE JIs2B2(2US3) Mg 50,000 50,000
402 RIZ2EXt20l 50,000 50,000
01 212t 2 AL E = (REMTH ) 50,000 50,000
OSZHMY HAFAL JISE2L(AS) A 50,000
ZOHASXAIE MAH=SA 960,000 960,000
= 864,000
< 67,200
Al 28,800
301 EEMZ 960,000 960,000
= 864,000
< 67,200
Al 28,800
01 Ml2ZE 6= 960,000 960,000
OFMA=EXAIE HASH 960,000
= 864,000
< 67,200
Al 28,800
ZOHQ HAFAIE SAMX 52+ X2 57,477 57,477
= 40,233
< 3,450
Al 13,794
307 glz2+ol & 57,477 57,477
= 40,233
< 3,450
Al 13,794
11T MISAASEX 57,477 57,477
OHM HNFAE SAL FLd+=E X2 57,477
= 40,233
< 3,450
Al 13,794
ZOHe S HOYAL X N 200,000 200,000
401 AIEHIZL 2 0] 200,000 200,000
01 A& Hl 200,000 200,000
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e =X s
D HMY BEXAIE XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
| | | O S BAANE HXl XL 200,000
Y2 (HOHA=XIt) 40,728 40,728
Jl2Z U (ZOoHel =Xl 1) 40,728 40,728
JI2 I (Z0HQ=X1t) 40,728 40,728
201 Let24E] 23,608 23,608
01 At 2t 2l 23,608 23,608
O el 11,200
O= &l 9,408
ORI+ 3,000
202 oddl 14,120 14,120
01 = LH o4 1l 14,120 14,120
OJleg =80l 14,120
203 ¥ S =&l 3,000 3,000
04 FENSEHE=LH| 3,000 3,000
ORN2IEYRZ=AHI 250,000& = 12& 3,000




